Cylindrical turning system S Type Cylindrical Turning Tool

SCACR SCMCN..80

Cylindrical Turning

End Face Turning

Cylindrical Turning

0S5~ (Inserts): A15-A16 (Toolholder Parts): P01-P04 R-Type 0= (Inserts):A15-A16 (Toolholder Parts): P01-P04 R-Type
Order
Number Nou:':s:)r
SCACR/L 0808KO06 8 8 125 10 8 8 ° ° 216300 =
SCMCN 0808H06 08 08 100 13 08 4 ° 215701
1010K06 10 10 125 10 10 10 CC..0606.. T8 M2.5X7 [} [} 216302 1010H06 10 10 100 13 10 5 CC..0602.. T8 M2.5X7 0 215700
1212K09 12 12 125 13 12 12 ° ° 216304 1212H09 12 12 100 18 12 6 ° 215702
1414K09 14 14 14 CC..09T3.. T15 M4X10 . . 216305 1414H09 14 14 100 18 14 7 O 215703
1616K09 | 16 16 | 16 o | e | 216306 1616H09 16 | 16 | 100 | 18 | 16 8 CC..09T3.. T15 | M4x10 . 215704
2020K09 20 20 125 18 20 10 ° 215706
SCFCR . E—E 2525M09 25 | 25 | 150 | 18 | 25 | 12.5 o 215708
2020K12 20 20 20 ° 215710
CC..1204.. T20 M5X12
of et . | 2525M12 25 25 | 12.5 . 215712
Cylindrical Turning o
= (Inserts): A15-A16 (Toolholder Parts): P01-P04 R-Type . _ °
Order Q.L L\50° )

Number

215600 Cylindrical Turning

CC..0602.. M2.5X7

SCFCRI/L 1212H06

"

[ ] [
1414H09 | 14 14 | 100 | 20 | 14 16 e | o | 215601 0= (Inserts):A15-A16 (Toolholder Parts): P01-P04 R-Type
1616H09 | 16 16 | 100 | 20 16 20 CC..09T3.. T15 M4X10 | o | o | 215602
2020K09 | 20 20 | 125 | 20 | 20 25 o | o | 215604 et Order
2525M12 | 25 25 | 150 | 25 25 32 R 120 Msxio | ® | ® | 215606 Y S Number
3232P12 | 32 | 32 | 170 | 25 | 32 | 40 o | o | 215608 SCMCN 1010H06-100| 10 10 | 100 | 13 10 5 CC..0602.. T8 M2.5X7 o 216100
1212H09-100| 12 12 | 100 | 18 12 6 o 216102
SCGCR . E—j 1414H09-100 | 14 14 | 100 | 18 14 7 o 216103
v = 1616H09-100| 16 16 | 100 | 18 16 8 CC..09T3.. T15 M4X10 o 216104
’ o RN . | 2020K09-100| 20 20 | 125 | 18 20 10 . 216106
Cylindrical Turning 0 2525M09-100 25 25 150 18 25 12.5 L] 216108
Y 2020K12-100 20 20 . 216110
End Face Turning 2525M12-100 25 12.5 CC..1204.. T20 M5X12 ° 216112
@ (Inserts): A15-A16 (Toolholder Parts): P01-P04 R-Type 5
|
Number “
| [ L |
SCGCR/L 0808F06 | 08 08 80 10 08 10 e | o | 215450 ol
1010H06 10 10 | 100 | 12 10 12 CC..0602.. T8 M2.5X7 | ® | o | 215452 o
1212H06 | 12 12 | 100 | 12 12 16 o | o | 215453 {{—E
1212H09 | 12 12 | 100 | 18 12 16 e | o | 215454 Cylindrical Turning -
1616H09 16 16 100 18 16 20 o | o 215456 = (Inserts): A15-A16 (Toolholder Parts): P01-P04 R-Type
2020K09 | 20 20 | 125 | 20 20 25 CC..09T3.. T15 M4x10 | o | o | 215458
2525M09 | 25 25 | 150 | 24 25 32 o | o | 215450 Order
2020K12 20 20 | 125 | 23 20 25 o | o | 215452 Nbey
ggggm; gg gg 150 26 | 25 | 32 CC. 1204.. 120 M5x12 | | ¢ | 215454 SCBCRI/L 1212H09 . e | o | 216196
70 | 28 | 32 | 40 o | o | 215456 1616H09 | 16 | 16 | 100 | 15 | 16 13 o | o | 216198
2020K09 | 20 20 | 125 | 12 20 17 CC..09T3.. s Max10 1 g | o | 216200
SCLCR 2525M09 | 25 25 | 150 | 12 25 | 22 o | o | 216202
. _j 1616H12 | 16 | 16 | 100 | 20 | 16 | 13 e | o | 216203
. 2020K12 | 20 17 CC..1204.. T20 M5x12 | o | o | 216204
o o \ 2525M12 | 25 e | o | 216206

of

Cylindrical Turning

g SCKCR
End Face Turning . ‘];—EI
=y
= (Inserts): A15-A16 (Toolholder Parts): P01-P04 R-Type uJ, (TN L ‘
)
- ol N |
Number End Face Turning 5 A
SCLCR/L 0808F06 (] (] 215400 = (Inserts): A15-A16 R-Type
1010H06 10 10 100 12 10 12 CC..0602.. T8 M2.5X7 o [ 215402
1212H06 | 12 | 12 | 100 | 12 | 12 16 o | o | 215403 et
1212H09 12 12 100 18 12 16 ° ° 215404
1414H09 14 14 100 18 14 16 ° ° 215405 SCKCR/L 1212H09 12 12 100 20 12 16 ° ° 215500
1616H09 16 16 100 18 16 20 CC..09T3.. T15 M4X10 | e ° 215406 1414H09 14 14 100 20 14 16 ° ° 215501
2020K09 20 20 125 20 20 25 ° ° 215408 1616H09 16 16 100 20 16 20 CC..09T3.. T15 M4X10 o o 215502
2525M09 25 25 150 24 25 32 ° [ 215410 2020K09 20 20 125 23 20 25 ° ° 215504
2020K12 20 20 125 23 20 25 ° ° 215412 2525M09 25 25 150 23 25 32 ° ° 215506
2525M12 25 25 150 26 25 32 CC..1204.. T20 M5X 12 ° ° 215414 2020K12 20 20 125 23 20 25 CC. 1204 T20 M5X 12 ° ° 215508
3232P12 32 32 170 28 32 40 ° L 215416 2525M12 25 25 150 25 25 32 B B ° ° 215510




Cylindrical turning system S Type Cylindrical Turning Tool

SDACR E SDQCR

o 4 - J—

L |
T

Cylindrical Turning
Cylindrical Turning

1

0
End Face Turning 1_% End Face Turning
= (Inserts): A17-A18 (Toolholder Parts): P01-P04 R-Type
= (Inserts): A17-A18 (Toolholder Parts): P0O1-P04 R-Type Order
Number
e SDQCRIL 1010H07 | 10 | 10 | 100 | 13 | 10 | 12 e | o | 216700
Number
1212H07 | 12 | 12 | 100 | 13 | 12 16 bC..0702.. T8 M2.5X7 | o | o | 216702
SDACR/L 0808H07 | 8 8 | 100 | 15 8 8 e | e | 216500 1212H11 | 12 | 12 | 100 | 14 | 12 | 16 e | o | 216704
1010H07 | 10 | 10 | 100 | 15 | 10 | 10 DC..0702.. T8 M2.5%x7 | ® | o | 216502 1616H11 | 16 | 16 | 100 | 14 | 16 | 20 DC. 1173 T15 Maxio | | e | 216708
1212H07 | 12 | 12 | 100 | 15 | 12 | 12 o | o | 216504 2020K11 | 20 | 20 | 125 | 16 | 20 | 25 SRR e | o | 216708
1212H11 | 12 | 12 [ 100 | 22 | 12 | 12 e | o | 216506 2525M11 | 25 | 25 | 150 | 20 | 25 | 32 o | o | 216710
1414H11 | 14 | 14 | 100 | 22 | 14 | 14 o | o | 216507
1616H11 | 16 | 16 | 100 | 22 | 16 | 16 DC..11T3.. T15 M4x10 | o | e | 216508
2020K11 | 20 | 20 | 125 | 22 | 20 | 20 e | o | 216510 SSBCR . ﬂ_}
2525M11 | 25 | 25 | 150 | 22 | 25 | 25 o | o | 216512

o
Cylindrical Turning 0

-

SDFCR . —_:l = (Inserts): A20 (Toolholder Parts): P01-P04 R-Type
I

ﬂ, M . ‘ Order
Cylindrical Turning Number
End Face Turning SSBCR/L 1212H09 12 9.5 . o 217100
1616H09 16 16 100 14 16 13 SC..09T3 T15 M4 %10 L L4 217102
2020K09 20 20 125 30 20 17 a v L4 L4 217104
= (Inserts): A17-A18 (Toolholder Parts): P01-P04 R-Type 2525M09 25 25 150 32 25 22 [ [ 217106
2020K12 20 20 125 30 20 17 L4 L4 217108
Order 2525M12 | 25 | 25 | 150 | 25 SC..1204.. 20 | MSXT2 | o | o | 217110

Z / 2 4 Number

SDFCR/L _1212H07 DC..0702.. 216600

1616H11 | 16 | 16 | 100 | 14 | 16 | 20 e | o | 216602
2020K11 | 20 | 20 | 125 | 14 | 20 | 25 | PC-11T3. TIS ) M0 1 g 1 g 1 546604

SSKCR

End Face Turning

22 22
W {S—
) &

SDJCR = (Inserts): A20 (Toolholder Parts): P01-P04 R-Type
Order
Cylindrical Turning Number
SSKCR/L 1212H09 e | o | 217198
End Face Turning 1616H09 | 16 16 | 100 | 20 16 20 e | o | 217200
2020K09 | 20 | 20 | 125 | 25 | 20 | 25 | SC-09T3. 15| Max10 g 1 g | 59702
2525M09 | 25 25 | 150 | 22 25 32 o | o | 217204
U=~ (Inserts):A17-A18 (Toolholder Parts): P01-P04 R-Type 2020K12 | 20 20 | 125 | 20 20 25 SC..1204.. T20 M5X12 | ® | e | 217206
Order
Number - 2
SSSCR _
SDJCR/L 1010H07 e | o | 216400 2
1212H07 12 12 100 14 12 16 DC..0702.. T8 M2.5X7 | ® . 216402 _ L |
1616H07 16 16 | 100 | 14 16 20 o | o | 216404 Cylindrical Turning o
1212H11 12 12 | 100 | 20 12 16 e | o | 216406 .
1414H11 14 14 | 100 | 20 14 16 e | o | 216407
1616H11 16 16 100 20 16 20 L] L] 216408 = (Inserts): A20 (Toolholder Parts): PO1-P04
2020K11 20 20 125 20 20 25 DC..11T73.. T15 M4X10 [ o 216410
2525M11 25 25 | 150 | 22 25 32 o | o | 216412
3232P11 32 32 | 170 | 23 32 40 o | o | 216414
4040R11 40 40 | 200 | 25 40 50 o | o | 216416 SSSCRIL 1212H09 e | o | 217300
1616H09 | 16 16 | 100 | 16 16 20 e | o | 217301
2020K09 | 20 | 20 | 125 | 18 | 20 | 25 | SC-09T3. 15 ] Max10 g 1 g | 597302
- 2525M09 | 25 25 | 150 | 26 25 32 o | o | 217303
SDNCN . T ] 2525M12 | 25 25 | 150 | 25 25 32 SC..1204.. T20 M5x12 | e | e | 217304

L

-

SSDCN

Cylindrical Turning

|
1

Cylindrical Turning

= (Inserts): A17-A18 (Toolholder Parts): P01-P04 R-Type
= (Inserts): A20 (Toolholder Parts): P01-P04 R-Type
Order
Number Order
SDNCN 1010H07 | 10 | 10 | 100 | 14 | 10 | 5 ‘ - o | o | 216712 »' Number
1212H07 | 12 | 12 | 100 | 14 | 12 6 DC..0702.. T8 M2.5X7 | o | o | 216714 1212H09 ] 217400
1212H11 12 12 100 21 12 6 [ L] 216716 1414H09 217401
1414H11 14 14 100 21 14 7 x o o 216717 1616H09 SC..09T3.. 217402
1616H11 16 16 100 | 21 16 8 DC. 1113 s Max10 1 g | o 216718 2020K09 217404
2020K11 20 20 125 21 20 10 ° ° 216720 2525M09 217406




Cylindrical turning system

S Type Cylindrical Turning Tool

SRAP(C)R

Cylindrical Turning

= (Inserts): A19 (Toolholder Parts): P01-P04 R-Type
Order
Number
SRAP(C)R/L 1616H08 ° ] 218500
2020K08 20 20 125 16 20 20.5 RP..08T2.. T10 M3 X8 L] (] 218502
2525M08 | 25 25 150 16 25 25.5 ° . 218504
2020K10 20 20 125 20.3 20 20.6 ° ] 218506
2525M10| 25 | 25 | 150 | 20.3 | 25 | 25.6 | 1073 T15 I M3.5X101 o1 o | 518508
2020K12 20 20 125 25 20 20.8 ° ] 218510
.. .. X
2525M12| 25 25 150 25 25 25.8 RP..1204 s M4>x10 ° . 218512
SRDP(C)N

Cylindrical Turning

[

o

1

{

|~
KT — 1§

=

= (Inserts): A19 (Toolholder Parts): P01-P04 R-Type
Order
Number
SRDP(C)N 1616H08 | 16 16 100 16 16 8 o ° 218700
2020K08 | 20 20 125 16 20 10 RP..08T2.. T10 M3X8 o (] 218702
2525M08 | 25 25 150 16 25 12.5 ° ° 218704
1010H10 | 10 10 100 | 20.3 10 5 . . 218706
1616H10 | 16 16 100 | 20.3 16 8 ° ° 218708
2020K10 | 20 20 125 | 20.3 20 10 RP..10T3.. T15 M3.5X10| e . 218710
2525M10 | 25 25 150 | 20.3 25 12.5 ° ° 218712
3232P10 | 32 32 170 | 20.3 32 16 ° ° 218714
2020K12 | 20 20 125 25 20 10 ° ° 218716
2525M12| 25 25 150 25 25 12.5 RP..1204.. 19 Max10 . . 218718
SRGP(C)R

Cylindrical Turning

lﬁ_}[
N —— B

= (Inserts): A19 (Toolholder Parts): P01-P04 R-Type
Order
Number
SRGP(C)RIL 1212H05 . e | o | 218600
1616H05| 16 | 16 | 100 | 95 | 16 | 20 | RP.0502.. 6 M2.2x6 | o | o | 218602
2020K05| 20 | 20 | 125 | 112 | 20 | 25 e | o | 218604
2525M05| 25 | 25 | 150 | 147 | 25 | 32 o | o | 218606
1212H06 | 12 | 12 | 100 | 10 | 12 | 16 e | o | 218608
1616H06 | 16 | 16 | 100 | 10 | 16 | 20 e | o | 218610
2020K06 | 20 | 20 | 125 | 12 | 20 | 25 | RP-0802. T8 M2.5%6 | o | o | 218612
2525M06| 25 | 25 | 150 | 15 | 25 | 32 o | o | 218614
1616H08 | 16 | 16 | 100 | 11 | 16 | 20 e | o | 218616
2020k08 | 20 | 20 | 125 | 127 | 20 | 25 | RP.08T2. T8 M3x8 | e | o | 218618
2525M08| 25 | 25 | 150 | 16.2 | 25 | 32 o | o | 218620
1616H10| 16 | 16 | 100 | 11 | 16 | 20 e | o | 218622
2020K10 | 20 | 20 | 125 | 127 | 20 | 25 | RP.10T3.. T8 Max10 | e | o | 218624
2525M10| 25 | 25 | 150 | 16.2 | 25 | 32 o | o | 218626
2020K12 | 20 | 20 | 125 | 13 | 20 | 25 e | o | 218628
2525M12| 25 | 25 | 150 | 17 | 25 | 32 RP..1204.. T15 ) Max10 1 0| | 218630

STECR

Cylindrical Turning

End Face Turning

= (Inserts): A21-A22 (Toolholder Parts): P01-P04 R-Type
Order
Number
STECR/L 1616H11 16 16 100 80 10 16 ° ° 217700
2020K11 20 20 125 100 12 20 ° . 217702
2525M11 | 25 | 25 | 150 | 120 | 16 | 25 | 'c-1102. T8 I M25XT ol o | 217704
2020K16 20 20 125 100 16 20 ° ° 217706
2525M16 25 25 150 120 20 25 TC..16T3.. T15 M3.5X9 | e ° 217708
3232P16 32 32 170 135 25 32 ° ° 217710

STGCR

Cylindrical Turning
End Face Turning

= (Inserts): A21-A22

(Toolholder Parts): P01-P04

STGCRI/L 0808H09 e | o | 217600
1010H08 | 10 | 10 | 100 | 12 | 10 | 12 | TC-0902. T6 M2.2X6 | o | o | 217602
1212011 | 12 | 12 | 100 | 16 | 12 | 16 e | o | 217604
1616H11 | 16 | 16 | 100 | 20 | 12 | 20 | TC-1102. T8 M2.5X7 1 o | o | 217606
1616H16 | 16 | 16 | 100 | 22 | 16 | 20 e | o | 217609
2020K16 | 20 | 20 | 125 | 22 | 20 | 25 o | o | 217608
2525M16 | 25 | 25 | 150 | 22 | 20 32 TC..16T3.. T15 M4X10 | o | o | 217610
3232P16 | 32 | 32 | 170 | 22 | 25 | 40 o | o | 217612

STFCR

Cylindrical Turning

End Face Turning

N S

W (Inserts): A21-A22 (Toolholder Parts): P01-P04 R-Type
y Order
P Number
STFCR/L 1010H09 10 10 100 12 10 12 TC..0902.. T6 M22X6 ° ° 217500
1212H11 12 12 100 16 12 16 ° ° 217502
1414H11 | 14 | 14 | 100 | 16 | 14 | 16 | 1102 e M25XT 1 g | o | 217503
1616H11 16 16 100 16 16 20 ° ° 217504
1616H16 16 16 100 16 16 20 TC..16T3.. T15 M4X10 ° ° 217506
2020K16 20 20 125 22 20 25 ° ° 217508
2525M16 25 25 150 22 25 32 ° ° 217510

STWCR

Cylindrical Turning

End Face Turning

@l

= (Inserts): A21-A22 (Toolholder Parts): P01-P04 R-Type
Order
Number
STWCR/L 1212H11 8 ° ° 217712
1616H11 16 16 100 8 16 19.3 ° ° 217714
2020K11 | 20 | 20 | 125 | 8 | 20 | 233 | !C-1102. T8 M25XT g | e | 217716
2525M11 25 25 150 8 25 28.3 ° o 217718
1616H16 16 16 100 12 16 21 ° ° 217720
2020K16 20 20 125 12 20 26 ° o 217722
2525M16 25 25 150 12 25 31 TC.16T3.. 15 M4 10 ° ° 217724
3232P16 32 32 170 12 32 38 ° . 217726




Cylindrical turning system

S Type Cylindrical Turning Tool

SVJBR

Cylindrical Turning

End Face Turning

= (Inserts): A23-A24 (Toolholder Parts): P01-P04

Order

Number

SVJBRIL 1212H11 e o | 218108
1616H11 | 16 | 16 | 100 | 28 | 16 | 20 | vB.1103.. Te | M2.5%x6 | e | & | 218110

2020K11 | 20 | 20 | 125 | 32 | 20 | 25 o | o | 218112
1616H16 | 16 | 16 | 100 | 32 | 16 | 20 e o | 218100
2020K16 | 20 | 20 | 125 | 32 | 20 | 25 e | o | 218102
2525M16 | 25 | 25 | 150 | 32 | 25 | 32 | VB-1604. TIS | MAX10 | o o | 248104
3232P16 | 32 | 32 | 170 | 40 | 32 | 40 e | o | 218106

SVQBR

Cylindrical Turning

End Face Turning

=

(Inserts): A23-A24 (Toolholder Parts): P01-P04

1
I |

R-Type

Order
Number

SVQBRIL 1212H11 e | o | 218301
1616H11 | 16 | 16 | 100 | 28 | 16 | 20 | vB.1103. Te | M2.5%x6 | e | o | 218303
2020K11 | 20 | 20 | 125 | 32 | 20 | 25 e | o | 218305
1616H16 | 16 | 16 | 100 | 32 | 16 | 20 e [ o | 218300
2020K16 | 20 | 20 | 125 | 32 | 20 | 25 e | o | 218302
2525M16 | 25 | 25 | 150 | 32 | 25 | 32 | VB-1604. TS | MaX10 | o o | 548304
3232P16 | 32 | 32 | 170 | 40 | 32 | 40 o | o | 218306

SVUBR

Cylindrical Turning

End Face Turning

F /.
R A

R - B

= (Inserts): A23-A24 (Toolholder Parts): P01-P04 R-Type

Order

Number

SVUBR/L 1212H11 ° ° 218318

1616H11 16 16 100 12 16 20 VB..1103.. T8 M2.5X6 o o 218320

2020K11 20 20 125 16 20 25 ° ° 218312

1616H16 16 16 100 20 16 30 . . 218310

2020K16 20 20 125 20 20 30 ° ° 218312

2525M16 | 25 | 25 | 150 | 16 | 25 | 32 | VB-1604. T15 1 Max10 o | o | 218314

3232P16 32 32 170 16 32 40 ° ° 218316
__—1175°

SVVBN

Cylindrical Turning

=

L1 17.5° ‘

L

of
- ol
= (Inserts): A23-A24 (Toolholder Parts): P01-P04 R-Type
Order
Number
SVVBN 1010H11 5 ° 218201
1212H11 12 12 100 28 12 6 VB..1103.. T8 M2.5X7 ° 218203
1616H11 16 16 100 24 16 8 ° 218200
2020K11 20 20 125 24 20 10 ° 218202
2525M11 25 25 150 24 25 12.5 ° 218204
1616H16 16 16 100 34 16 8 ° 218206
2020K16 20 20 125 34 20 10 VB..1604.. 15 M4x10 ° 218208
2525M16 25 25 150 34 25 12.5 ° 218210
3232P16 32 32 170 34 32 16 ° 218212

SVJCR

Cylindrical Turning

End Face Turning

= (Inserts): A23-A24 (Toolholder Parts): P01-P04 R-Type
Order
Number
SVJCR/L 1212H11 ° ° 218158
1616H11 16 16 100 28 16 20 VC..1103.. T8 M2.5X6 | ® (] 218160
2020K11 20 20 125 32 20 25 o . 218162
1616H16 16 16 100 32 16 20 ° ° 218170
2020K16 20 20 125 32 20 25 ° ° 218172
2525M16 | 25 | 25 | 150 | 32 | 25 | 32 | VC-1604. TI5 ) Maxa0 1 o 1 o | 218174
3232P16 32 32 170 40 32 40 ° . 218176

SVQCR

Cylindrical Turning
End Face Turning

= (Inserts): A23-A24

(Toolholder Parts): PO1-P04

R-Type

Order
Number

SVQCRI/L 1212H11 ° ° 218351
1616H11 16 16 100 28 16 20 VC..1103.. T8 M2.5X6 | ® ° 218353
2020K11 20 20 125 32 20 25 ° ° 218355
1616H16 16 16 100 32 16 20 ° ° 218350
2020K16 20 20 125 32 20 25 ° ° 218352
2525M16 | 25 | 25 | 150 | 32 | 25 | 32 | VC-1604. TS ] MaxT0 1 o) o | 218354
3232P16 32 32 170 40 32 40 ° ° 218356
SVUeR T
Cylindrical Turning ‘L ; . L ‘
1
End Face Turning g EI
= (Inserts): A23-A24 (Toolholder Parts): P01-P04 R-Type
Order
Number
SVUCR/L 1212H11 ° ° 218358
1616H11 16 16 100 12 16 20 VC..1103.. T8 M2.5X6 | e ° 218360
2020K11 20 20 125 16 20 25 ° ° 218362
1616H16 16 16 100 20 16 30 . ° 218370
2020K16 20 20 125 20 20 30 ° ° 218372
2525M16 | 25 | 25 | 150 | 16 | 25 | 32 | VC-1604. TS ] MaXT0 1 o) g | 218374
3232P16 32 32 170 16 32 40 ° ° 218376
__—175°
o & '~
ELL L1 17.5° ‘
Cylindrical Turning L

- T

= (Inserts): A23-A24 (Toolholder Parts): P0O1-P04 R-Type
Order
Number
SVVCN 1010H11 10 10 100 25 10 5 ° 218251
1212H11 12 12 100 28 12 6 VC..1103.. T8 M2.5X7 ° 218253
1616H11 16 16 100 24 16 8 ° 218250
2020K11 20 20 125 24 20 10 ° 218252
2525M11 25 25 150 24 25 12.5 ° 218254
1616H16 16 16 100 34 16 8 ° 218256
2020K16 20 20 125 34 20 10 VE..1604.. s M4x10 ° 218258
2525M16 25 25 150 34 25 12.5 ° 218260
3232P16 32 32 170 34 32 16 ° 218262




Internal turning system

Inner hole turning tool system

Boring

Boring

Boring

Boring

MTWNR

@20~@40
80° 50°

VN

025~032
35° 72.5°

STWNR

TC
28~225

@8~220
80° 50°

DC
210~@32
55° 55°
SVWB(C)R

VB/IVC
025~032
35° 72.5°

Boring

DC
@10~025

VN
025~032

MDZNR
B41

VB/VC.
@16~040

STWC(P)R

SC.
212~025
90° 45°

Index of bore turning tool system

T-SDJCR

DC..
@8~025

VN
@20~@40

H-SDJCR

VN
@20~@40

SDXCR

DC..
@8~025

VN
@32~@40

DS-LBMB S-SVNR CH-LBML LBMAR SDJCR C-SDJCR
ABO5 ABO5 AB08 ABO08 ABO8
e L) “lelil Dﬂ
LBM.. VNBR. VNBR LBM. LBM. TN.. DC.. DC..
@14~025 012~025 010~025 010~012 010~016 ©20~@40 08~025 08~025
Boring Boring
SBQR SBPR SBFR SBTR SBUR |
AB28 AB28 AB28 AB28 AB28 I
1
ey .
0 > o |
35° 60° 70° 80° | DC.. DC.. DC..
24~08 24~08 24~08 24~08 24~08 1 28~025 28~025 28~025
|
SBDR STIR SBWR SBKR SBCR | SVJB(C)R SVXB(C)R
AB29 AB28 AB29 AB29 AB29 1
T ~A 45: A g5 |
44° 55°/60 oy |
csv, csv, csv, csv. 45° |
24~08 24~-08 24~08 24~08 24~08
45°  90° |
SMFR SMFL SMVR |
AB29 AB29 AB29 I
G (B |
=) ! .
|
I 1
@6~010 @6~010 26~010 1 :
|
1
1
I |
I ¢
I 1
__________________ |
|
1
|
|
1
|
|
1
Small bore |
turning tool |
Insert Center Internal Turning Internal Interrjal Internaland |
| Alignment Back(Turning Profiling Tjurning End Face Turning |
I |
I I
|
|

SDZCR

DC.
@10~@32

C-SVZB(C)R

VB/VC.
?16~025

/=
2 T ZQ

Boring

08~325

MCKNR

08~325

DCKNR

SN
@20~350

ECKNR

232~340

SN
@20~350

SCKNR

sC
@12~025

SCKCR

sC
@12~025

sC
@12~025

Boring

and inner hole

TN..
@220~240

@20~240

VN
©20~040

Common turning of outer circle

ETQNR

TN..
@20~240

VN
©20~040

Boring

Boring

Internal End Face
Profiling Turning

S..MWO0S8..

@25~@40

S..MC12..

@25~@40

STQNR

TN..
@16~@20

VN
©32~040

SDQCR

28~032

SVQB(C)R

VB/VC.
@16~040

C-SDQCR

@10~225

C-SVQB(C)R

VB/VC.
@16~020

CN..
216~060

TN
218~032

N
@16~020

DN..
@20~@40

28~025

WN
@16~060

CN..
B20~340

D4~@25

B38

TN
220~040

C-STUCR

DN..
220~340

VN
220~040

WN
@20~240

-

= ¢
5

Boring

TN..
216~340

T-STFCR

28~@25

TN..
216~320

H-STFCR

CN..
B32~340

TN

E-STUCR

VN

WN
@25~050

CN..
216~320

TN
216~060

VN
232~340

WN
@16~020

C-MCLNR

CN..

TN

VB/VC
216~340

06~016

STUP(C)R-A

SCLCR-A

CC..
@7~016

C-SCLCR-A

TN
225~350

wc
08~025




Carbide small Internal boring tool

m Internal turning system

() @2. 2- SBFR Cutting Edge Angle 70° . SBUR End Face Machining
S o
Boring Tools ® SBFS SBFB > fN | — (] =
® R R0.05 RO.15 b Iy " S
’ (Unit) : mm R L2

S Stock
SBFR10030R005-D4 | 0.6 | 30 | 02 | 005 | D4 | 40 | 37 | O mm 207131
SBFR15050R010-D4 | 12 | 50 | 02 | 01 | D4 | 40 | 37 1.5mm 207132 1 -
— SBFR20070R010-D4 | 17 | 70 | 035 | 01 | D4 | 40 | 37 | O 2mm 207133 s
—
SBFR25070R010-D4 | 23 | 70 [045 | 01 | D4 | 40 | 37 | O 25mm 207134 (Ui
SBFR30100R010-D4 | 27 | 100 | 045 | 01 | D4 | 50 | 37 | O 3mm 207135
SBFR3S150R015-D4 | 32 | 150 | 05 | 045 | D4 | 50 | 37 | O 35mm 207136 Wodel Order No
SBFRAOTSOR015-DA | 37 | 150 | 05 | 045 | D4 | 50 | 37 | O 4mm 207137 SBURSOT00ROT0-DA | 27 | 10.0 ) 04 | 01 ) D4} 50 | &7 | 13 ) O mm 207852
SBUR40150R010-D4 | 37 | 150 | 05 | 01 | b4 | 50 | 37 | 17 | o 4mm 207333
SBFRASTS0R015-D4 | 40 | 150 | 05 | 045 | D4 | 50 | 37 | O 4.5mm 207138
SBURS0200R020-05 | 47 | 200 | 07 | 02 | b5 | 50 | 47 | 21 | © Smm 207334
i 47 | 200 | 09 {020 | D6 | 50 | 57 5
SBFRS0200R020-06 © mm 207139 SBUR60200R020-D6 | 5.7 | 200 | 10 | 02 | be | 50 | 57 | 28 | o 6mm 207335
SBFR65200R020-06 | 52 | 200 | 09 | 020 | D6 | 50 | 57 | O 55mm 207140 saurT0250R020.07 | 67 | 250 | 10 |02 | o7 | s | 7 | 52 | o - I
SBFR60200R020-D6 | 57 | 200 | 09 | 020 | D6 | 50 | 57 | O 6mm 207141 SBUR80300R020-08 | 77 | 300 | 10 | 02 | pe | e | 77 | 38 | o amm 207337
SBFR80400R020-D8 | 7.5 | 400 | 12 | 020 | D8 | 60 | 77 | O 8mm 207142
g SBPR Cutting Edge Angle 60° 2SBTR Double-head Inner Hole Boring Tool
8 o
FlEN )
\ |
T 0,
. 23— [ L L2 {
F
\\
(Unit) : mm
@® 0.5/0.75/1.0/1.5mm " N
R L1 H
el Processing Diameter  Order No I
SBPR 10040R000-D4 0.85 4.0 0.15 0.00 D4 40 3.7 (e} 1mm 207145
40R005-04 | 0.85 | 40 | 015 | 005 [ D4 | 40 | 37 | © 1mm 207146
SBPR 20060R005:D4 | 18 | 60 | 030 | 005 | D4 | 40 | 37 | O 2mm 207147
20060R010D4 | 18 | 60 | 030 | o0 | D4 | 40 | 37 | O 2mm 207148
SBPR 30060R005D4 | 27 | 60 | 030 | 005 | D4 | 50 | 37 | O 3mm 207149 (Unit) : mm
30080R010-D4 [ 27 | 60 | 030 | 040 | D4 | S0 | 37 | © 3mm 207150
| 30060R020-D4 [ 27 | 60 | 030 | 020 | D4 | 50 | 37 | © 3mm 207151
3 AR BB A R 1 30100R005-D4 | 2.7 | 100 | 030 | 005 | D4 | 50 | 37 o 3mm 207152
30100R010-D4 | 27 | 100 | 030 | 040 | D4 | 50 | 37 | O 3mm 207153
3010002004 | 27 | 100 | 030 | 020 | D4 | 50 | 37 | © 3mm 207154 Wodel Stock | Proessing Diameter | Order No
R D¢ 37 8.0 0.40 0.05 D4 50 37 (e} 4mm 207155
4 R D4 37 8.0 0.40 0.10 D4 50 37 o 4mm 207156 2SBTR02050R005-D3 18 5.0 0.15 | 0.05 D3 50 2.7 o] 2mm 207191
4 R D4 37 8.0 0.40 0.20 D4 50 3.7 (e} 4mm 207157
40150R005-04 | 37 | 150 | 040 | 005 | D4 | 50 | 37 | O dmm 207158 2SBTRO3150R010-03 [ 27 150 [ 03 | 0.1 [ D3 | 50 |37 | o amm 207192
40150R010-D4 3.7 15.0 0.40 0.10 D4 50 3.7 o 4mm 207159
40150R020D4 | 37 | 150 | 040 | 020 | D4 | 50 | 37 | O 4mm 207160 2SBTRO4150R015-D4 | 37 | 150 | 04 |05 | D4 | 50 | 37 | O 4mm 207193
SBPR 50200R005:D5 | 47 | 200 | 050 | 005 | D5 | 50 | 47 | O 5mm 207161
50200R010-05 [ 47 | 200 | 050 | 040 | D5 | 50 | 47 | © Smm 207162 Y 04 ; 207194
S B F R 50200R020-D5 | 47 | 200 | 050 | 020 | D5 | 50 | 47 | O 5mm 207163 2SBIRO5250R0IG0 cr 280 || G oo | | e ] © s
SBPR 60200R005:D6 | 57 | 200 | 050 | 005 | D6 | 50 | 57 | O 6mm 207164 g 207495
N N N S A " i . 2SBTRO5250R020-D5 | 47 |250 | 05 | 02 | b5 | 70 | 47 | © Smm
60200R020-06 | 57 | 200 | 050 | 020 | D65 | 50 | 57 | © 6mm 207166
SBPR 70250R015-07 | 65 | 250 | 050 | 015 | D7 | 50 7] o 7mm 207167 2SBTR06250R010-D6 | 87 (250 | 05 | 04 | D6 | 70 | 57 | O G 207498
SBPR 80300R015-D8 75 30.0 0.50 0.15 D8 60 77 (e} 8mm 207168
80300R030-D8 | 7.5 | 300 | 050 | 030 | 08 | 60 | 77 | O 8mm 207169 2SBTRO6250R020-D6 57 |250] 05 | 02)D6 |70 | 57 ] O 6mm 2oraer
SBTR Cutting Edge Angle 80° STIR 60°/55° Internal Hole Thread Processing
—~5°
o
A
i
5 ¥ L1 o
| R L2
- H
(Unit) : mm (Unit) : mm

SBUR
AB28

AT

SBKR
AB29

—

SMFR

AB29

SMFL AB29

SMVR AB29
A

E

g Diamets Order No.

SBPR 10040R000-D4 | 0.85 4.0 0.15 0.00 D4 40 3.7 o 1mm 207170

10040R006-D4 | 0.85 4.0 0.15 0.05 D4 40 37 ] 1mm 207171
SBTR 20060R005-D4 18 6.0 0.30 0.05 D4 40 3.7 ] 2mm 207172

20060R010-D4 18 6.0 0.30 0.10 D4 40 37 ] 2mm 207173
SBTR 30060R005-D4 2.7 6.0 0.30 0.05 D4 50 3.7 o 3mm 207174

30060R010-D4 27 6.0 0.30 0.10 D4 50 37 o 3mm 207175

30060R020-D4 2.7 6.0 0.30 0.20 D4 50 3.7 ] 3mm 207176

30100R005-D4 27 10.0 0.30 0.05 D4 50 37 o 3mm 207177

30100R010-D4 2.7 10. 0.30 0.10 D4 50 3.7 o 3mm 207178

30100R020-D4 27 10.0 0.30 020 D4 50 37 o 3mm 207179
SBTR 40080R005-D4 3.7 8.0 0.40 0.05 D4 50 3.7 o 4mm 207180

40080R010-D4 37 8.0 0.40 0.10 D4 50 37 o 4mm 207181

40080R020-D4 3.7 8.0 0.40 0.20 D4 50 3.7 ] 4mm 207182

40150R005-D4 37 15.0 0.40 0.05 D4 50 37 o 4mm 207183

40150R010-D4 3.7 15.0 0.40 0.10 D4 50 3.7 o 4mm 207184

40150R020-D4 37 16.0 0.40 0.20 D4 50 37 ] 4mm 207185
SBTR 50200R005-D5 4.7 20.0 0.50 0.05 D5 50 4.7 o 5mm 207186

$50200R010-D5 4.7 20.0 0.50 0.10 D5 50 4.7 e} Smm 207187

50200R020-D5 4.7 20.0 0.50 0.20 D5 50 4.7 ] 5mm 207188
SBTR 60200R010-D6 57 20.0 0.50 0.10 D6 50 57 o B6mm 207189

60200R020-D6 57 20.0 0.50 0.20 D6 50 5.7 o 6mm 207190

60200R040-D6 57 20.0 0.50 0.40 D6 50 57 o 6mm 207191
SBTR 70250R020-D7 6.5 25.0 0.50 0.20 D7 50 6.7 ] 7mm 207192
SBTR 80300R020-D8 75 30.0 0.50 020 D8 60 .7 o 8mm 207193

80300R040-D8 75 30.0 0.50 0.40 D8 60 7.7 [e] 8mm 207194

SBQR Cutting Edge Angle 35°
—p~-3° o
IO 1
i
R/ L1
L2
S =
(Unit) : mm

Order No.

SBQR 30060R005-D4 | 2.9 6.0
30100R020-D4 | 2.9 | 10.0
SBQR 40100R010-D4 | 3.9 | 10.0
40100R020-D4 | 3.9 | 10.0
SBQR 50150R010-D5 | 4.9 | 15.0
50150R020-D5 | 4.9 | 15.0
SBQR 60150R010-D6 | 5.9 | 15.0
60150R020-D6 | 5.9 | 15.0
SBQR 70200R020-D7 | 6.5 | 20.0
SBQR 80250R010-D8 | 7.5 | 25.0
80250R020-D8 | 7.5 | 25.0

0.6
0.6
0.8
0.8
1.0
1.0
1.0
1.0
1.5
2.0
2.0

0.05
0.20
0.10
0.20
0.10
0.20
0.10
0.20
0.20
0.10
0.20

D4
D4
D4
D4
D5
D5
D6
D6
D7
D8
D8

3.7
3.7
3.7
3.7
47
4.7
5.7
5.7
6.7
7.7
7.7

0O 0 00 O0O0O0OO0O0O0 O

207320
207321
207322
207323
207324
207325
207326
207327
207328
207329
207330

STIR 14050-60°
18070-60°
24070-60°
30120-60°
40150-60°
50150-60°
60200-60°
80220-60°

N os S s

U
Ui

American

N-12,UN-14
IN1/4,UN5/16

UN1/4,G1/16
UN5/16.G1/8

Metric

22000
EEEEET S

lea

Order No.
207421
207422
207423
207424
207425
207426
207427
207428

STIR 40150-55°  [3.85] 15.0] 1.1 ] 0.05] D4 | 50 | 1/4-208SW 40mm | 55° ] 207430
50150-55° | 4.8 |150( 1.5 [0.05| D5 | 50 | 5/16-18BSW. 50mm | 55° | 207431
60200-55° |56 (200 18 |0.08| D6 | 50 G116.G16-28 60mm | 55° | 207432
80220-55° | 7.8 1220 22 [0.08] D8 | 50 |1z-izmswetiis 80mm | 55° | 207433

60 ° Reverse Thread

STIL 40150-60°  ]3.85]15.0] 1.1 ] 0.05] D4 | 50 | UN-12.UN-14 | M5/M6 | 05 | 1.0 | 40mm | 60° | 207435
50150-60° | 4.8 |150( 1.5 [0.05| D5 | 50 | UN1/4,UNS/16 | M8 [0.75| 15 | Somm | 60° | 207436
60200-60° | 56 |20.0( 1.8 [0.08| D6 | 50 | UN1/4,G1/16 | M10 [0.75|1.75| 6.0mm | 60° | 207437
80220-60° | 7.8 1220|2008 D8 | 50 | UNsi16GY/s | M2 | 10| 20| 8omm | 60° | 207438

STIR 30° Internal Hole Thread Processing

Pitch Stock

Processing Diameter

=y

(Unit) : mm

Order No.

STIR80250-1.5TR
STIR80250-2.0TR
STIR80300-3.0TR

STIR100350-4.0TR

25

30

35

0.1 D8 60

02 | D8 60

0.2 D

8 60

02 D10 75

1.6TR

20TR

3.0TR

40TR

O O O

Tréx1.5 Trox1.5

Tr9x2.0 Tri0x2.0
Tr11x3.0 Tr12x3.0
Tr14x3.0

Tr14x4.0
Tr16x4.0 Tr18x4.0

207441

207442

207443

207444




Internal turning system Carbide small Internal boring tool

SBWR Internal Hole Grooving SMFR Right End Face Grooving SBFS Type
o Ny

Tungsten Steel Small Diameter Boring Tool
(Back oblique insertion)

s ¢D
. — — ; o
PN o
5 R*‘WL R ,,h —— Voo, = ]
L2 ‘ H u ) Vas e I
(Unit) : mm Sy o 2 ==
‘ 5 | L — D
u = D @
Wodel Stock  Processing Diameter  Order No Y \
SBWRO5100R005-D4 | 05 | 1.0 | 10 | 005 | 38 | D4 | 50 | 37 | O 4mm 207241 ““ T J
SBWROB100R005-D4 | 08 | 1.0 | 10 005 | 38 | D4 | 50 [ 37 | © 4mm 207242 R ‘ T | L2 .
SBWR10100R005-D4 | 10 | 15 | 10 | 005 | 38 | D4 | 50 | 37 | O 4mm 207243 - : - Uint: mm
SBWR15100R005-D4 | 15 | 15 | 10 |005 |38 | D4 | 50 | 37 | O 4mm 207244 Flw t Ordering code (mm) éd L Order
D

SBWRIOTO0RO10-D5 | 10 | 15 | 10 | 01 | 48 | D5 | 50 | 47 | O Smm 207245 / SBFS 020R005S |22 2 [50 |10 0.9]1.8]025]0.05 o [207100 Ordering code s Order
SBWR12100R010-D5 | 12 | 15 | 10 | 04 | 48 | 05 | 50 | 47 | © 5mm 207246 R Number
SBWRI5100R010-D5 | 15 | 20 | 10 [ 04 |48 | D5 | 50 [ 47 | O 5mm 207247 030R005S (32 3 |50 | 15 |1.4]|2.70.40/0.05 O |207102 XSBFR 20R005 2.0 [1.7 0. 25|10 4
SBWR20100R010-D5 | 20 | 20 | 10 | 04 | 48 | D5 | 50 | 47 | O 5mm 207248 (Unit) : mm 030R015S |[3.2]| 3 | 50|15 |1.4]2.7]0.40|0.15 O | 207104 25R005 2.5 (2.3 0. 250. 4
SBWR10120R015-D6 | 10 | 20 [ 12 o045 [ 58 [ 06 [ 50 [ 57 [ © 6mm 207249 040R005S [4.2| 4 [ 60|20 |1.9(3.6|0.45|0.05 O |207106 30R008 3.0 [2.75 0.4 0. 4
SBWR15120R015-D6 | 15 | 20 | 12 045 | 58 | D6 | 50 | 57 | © 6mm 207250 Stock  Processing Dameler. _ Order No. 35R010 3.5 [3. 25 0.4]0. 4
SBWR20120R015-06 | 20 | 20 | 12 015 | 58 | s | 50 | 57 | © omm 207251 SMFR60150W0.7506 | 295 | 15 | 15 | 075 | 01 | D6 | 50 | 57 | © 80 207271 040R015S | 42| 4 | 60|20 |1.9|356|0.45/0.15) O [207108 40R010 4.0 3.8 0.6 0. 4
SBWR25160R015-06 | 25 | 25 | 16 | 045 | 58 | D6 | 50 | 57 | O 6mm 207252 SMFR60150W1.0-D06 [ 295 | 15 | 20 | 10 | 01 | D6 | 50 | 57 | O 80 207272 050R005S [52]| 5 | 70|25 |2.4(4.5|0.50(0.05| © | 207110 ggsg}g g g ‘; ; g ;g 8 g
SBWR15160R015-D8 | 15 | 20 | 16 045 78 | & | 50 | 77 | O 8mm 207253 SMFRE0Z00W20-D8 | 5.95 | 20 | 40 | 20 | 02 | D& | 50 | 77 | © 00 207218 050R015S |52 5 | 70| 25|24|4.5|0.50/0.15] O | 207112 70R015 7: 0 6: 7 0 8 0: 7
ool 200 e e I e e A e - = SMFR80200W25D8 | 395 | 20 | 50 | 25 | 02 | be | 50 | 77 | O 100 207274
SBWR25160R015-D8 2.5 3.0 16 0.15 7.8 D8 50 7.7 o 8mm 207255 ‘SMFR80200W3.0-D8 3.95 20 6.0 3.0 0.2 D8 50 7.7 o 10.0 207275 S B F B Type
SBKR Inner Hole Round-Head Grooving SMFL Left End Face Grooving Tungsten Steel Small Bore Groovmg Cutter

y Hpg¢ 5 ‘ ) . (Back oblique insertion)

< W= ‘ )
7 ‘ N ? & ol | ed . {'ré?ézé
F re L1 czz
s ]
r o ” , B
R L2 L2 H FI

[ |
R\ Dimensions W
. W1 \ Ordering code (mDm) éd L h S Nou:ggér Uint : mm
7’1 T | SBFB 020R005F . 9|18]o0. . 207300
R
030R005F 207302 Ordering code ~ Minimum R #D W Order
(Unit) : mm — unity {mm 030R015F 207304 — —
XSBWR 0512R005D4| 4.0 | 3.8 | 12 | 1.0 |0.05 37 | 4 |0.5]207220
o PR orcer No | o [ P 040R005F QOIE0E 1012R005D4| 4.0 [3.8 | 12 | 1.0 [0.05 37 | 4 | 1.0 207221
SBKR40100R050-D4 | 38 | 10 | 10 | 05 | D4 | 50 | 37 | © 4mm 207261 SMFLB0150W0.75-06 | 205 | 15 | 15 | 075 | 04 | D6 | 50 | 57 | o 50 p— 040R015F 207308 1512R005D4( 4.0 (3.8 | 12 | 1.0 |0.05 37 | 4 11.5]|207222]
1020R010D5( 5.0 (4.6 | 20 | 1.5| 0.1 46 5 | 1.0 |207223
SBKR40100RO75:D4 | 3 | 10 | 10 | 075 | D4 | 50 | 37 | O 4mm 207262 SMFLE0150W1.0-06 [ 295 | 15 | 20 | 10 | 0.1 | D6 | 50 | 57 | © 80 207282 050R005F 207310 1520R010D5| 5.0 |4.6| 20 | 15| 0.1 46 | 5 | 15207224
SBKR60150R050-D6 [ 58 | 15 | 15 | 05 | D6 | 50 | 57 | O 6mm 207263 SMFL80200W2.0-D8 | 395 | 20 | 40 | 20 | 02 | b8 | 50 | 77 | © 80 207283 050R015F . 207312 2020R010D5| 5.0 | 4.6 | 20 [ 1.5| 0.1 46 | 5 | 2.0 (207225
SBKRB0150R075-D6 58 | 15 | 15 | 075 | D6 | 50 | 57 | O 6mm 207264 SMFL80200W25D8 | 3.95 | 20 | 50 | 25 | 02 | D8 | 50 | 77 | © 10.0 207284 1020R015D6( 6.0 | 5.7 | 20 | 2.0 |0.15 46.5| 6 | 1.0 207226
SBKR60150R100-D6 58 | 15 | 15 | 1.0 | D6 | 50 | 57 | O 6mm 207265 SMFL80200W3.0-D8 | 395 | 20 | 60 | 30 | 02 | D8 | 50 | 7.7 ] 10.0 207285 1520R015D6( 6.0 | 5.7 | 20 | 2.0 10.15 46.5| 6 1.5 |207227
SBG Type 2020R015D6| 6.0 | 5.7 | 20 | 2.0 0.15 46.5| 6 |2.0[207228
1025R015D8( 8.0 | 7.5 | 25 | 2.0 |0.15 53.5| 8 | 1.0 (207229
SBCR Boring + Chamfering 45° SMVR Deepen End Face Grooving . z 1525R015D8( 8.0 [ 7.5| 25 | 2.0 [0.15 53.5| 8 | 1.5[207230
) ] Py 2025R015D8| 8.0 | 7.5| 25 | 2.5 [0.15 53.5| 8 |2.0 (207231
L2 A2 p— |— 1l 2525R015D8| 8.0 [ 7.5] 25 |3.0]0.15 53.5] 8 1251207232
o L2 ‘ Yo TNe o .
was || ©
T N—— u o L
I e Tungsten Steel Small Bore Threading Tool(Back oblique insertion
U — | e : g Tool( q )
I 7 S—
| |
H D
R Dimensions -
n i Order FLA '//
i {
Wl Ordering code (mDm) Wed Ll 9 L f h I sok noroer - - N
R
R s . SBG 030050RB 0.50 o | 207200 H . ‘
R 030075RB | 3 [o7| 3| 9 |o8|50|1.3| 27 |005| o [ 207202 te ‘ Uint: mm
(o) 030100RB 100 O [ 207204
Vo N e No 040050RB 0.50 o | 207206 O e T
SBCR30100R020-D4 28 10 05 02 D4 50 37 o 207321 Stock  Processing Diameter  Order No 040075RB 4 lors| 4 |12 (1.0 60 [1.8] 3.6 005/ O |207208
SBCR40150R020-D4 37 15 08 02 D4 50 37 o 207322 SMVR10150W20D10 | 15 | 20 | 02 | Di0 | 50 9 o 15 207291 040100RB 1.00 o | 207210 XSTIR 3815-A60
4715-A60
SBCR50150R020-D5 47 15 12 | 02 D5 50 a7 o 207323 SMVR10150W30-010 | 15 | 30 | 02 | Do | 50 9 o 15 207292 050050RB = o | 207212 £920-A80
SBCR60150R020-D6 57 15 15 0.2 D6 50 5.7 ] 207324 ‘SMVR10150W4.0-D10 15 4.0 0.2 D10 50 9 o 15 207293
050100RB | 5 |100| 5 |20 |1.2|70|2.3] 4.5 |0.05| O | 207214 ig}g-ﬁgg
050150RB 150 O | 207216 5920-A55
SBDR Boring + Chamfering + Grooving SBXR Back Boring Cutter SBT Type
o
Qo
®4
F S : 3 S
I
7 1 — I
R L2 VAV’**RLH -
L2 <
fab W
4 H
1
Uint: mm

Dimensions

Dimension
Order CNSIONS

Number

Ordering code mgd L1 g L f fihor
SBT 030M4RB [s0[s0|75[0s

Ordering code Diometer H L D1

(Unit) : mm

Model ock | Processing Diameter Mosel XSBH 2004 4 22 | 20 8 19 1100| 20 708170
saDRAouzo-m 38 [100] 08 | 02| 04|50 | 37|15 Sk 4mm 00 SBXRAOTOOR0IODA | 38 [ 15 | 10 | 10 01} D4 50 | a7 O Amm 207335 035M5RB ss/ssjas|10 oas |1 207402 2005 5 221 20 | 8 | 19 1100 20 708172
—— I T . . SBXRS0150R015-D5 | 46 | 20 | 15 | 15 | 045 | D5 | 50 | 47 | O Smm 207336 040MBRB |«0]«0fi0512 008 . ! el 207404 2006 6 22120 | 8 | 19 1100| 20 708174

! mm 207332 2007 7 22| 20| 8 [ 19 |100]| 20 708176
SBDR60150R020-06 | 58 | 150 | 14 | 02 | b6 | 50 | 57 | 15 | O 6mm 207333 SBXR60200R020-D6 | 58 | 20 | 20 | 20 | 0.2 | D6 | 50 | 57 | O 6mm 207337 050M8RB |s0]s0)i515 2008 8 221201 8 19 [100] 20 708178




Internal turning system Modular inner hole turning tool

MGIV Modularized Cutter Head SIR Modular Turning Head
Modular Tungsten Steel Tool Holder

Modular High Hardness And High Rigidity Shank i .
——_— g SeKN e s SEW Dimensions | Screw| Wrench
rdering code o| gD L q
l_ " — /\ Ordering code INSERT wloD| L[ F & ﬁ
[/ | SCK1-E20-180L SCK1| 20 (180 M5 |PL25| e [221500 SCK1.A20-MGIVR25.2 e 25/ SoToaTiad
- e T SCK1-E20-230L SCK1 | 20 |230| M5 |PL25| e |221502 e ) ' ) X
SCK1-A20-MGIVR25-3 3| 25|20 | 24 [14.1 Dimensions Screw| Wrench
3 SCK2-E25-175L | SCK2 | 25 [175| M6 | L3 | e [221504 SCK1-A20-MGIVR25.-4 al2s |20 2altad o Ordering code INSERT snEy Stock
SCKNO/J/ L o> | H | SCK2-E25-225L SCK2 | 25 |225| M6 | L3 | e |221506 SCK2-A25-MGIVR30-2 MGMN2[ 30 | 25 | 25 [16.6 winz| 2 /
SCK3-E32-170L SCK3 |32 |170| M6 | L3 | o |221508 SCK2-A25-MGIVR32-3 3| 32125/ 2518.6 SCK1-A20-SIR16-24 16NR | 24120 (22 113.7) wousss | 145 | @
SCK3-E32-220L sck3 | 32 [220] M6 | L3 | o |221510 SCK2-A25-MGIVR32-4 4]32 |25 25 18.6) SCK2-A25-SIR16-29 29 | 25 | 27 |16.2] wemee °
, IDimensions| Screw| wrench SCK3-E32-270L | SCK3| 32 (270 M6 | L3 | o (221512 : :
Ordering code SCKNo | op [ L | &0 SCK4-E40-267L | SCK4 | 40 |267| M8 | L4 | o |221514 MTUN Dimensions Shim N o™ R
SCK1-Y20-180L | SCK1 | 20 |180] M5 |PL25| e | 221100 SCK5-E50-300L | SCK5 | 50 |300/M10| L5 | 0 |221516 Ordering code wne|@D| L | F [INSERT @ § (7 @
SCK2-Y25-175L SCK2 1251175/ M6 | L3 | e 221102 SVJC Modular Cutter Head SCK1-A20-MTUNR16-25 251202913 CTMS11 HL1810 MLOG20 PL25 ® (222600
SCK2-Y25-225L SCK2 | 25 |225| M6 | L3 | e [221104 SCK2-A25-MTUNR16-32 32(25|30|17 PL30 ® (222602
SCK3-Y32-220L SCK3 | 32 |220| M6 | L3 | © |221106 SCK3-A32-MTUNR16-40 40| 32|34 |20 |TN1604 ® [222604
SCK3-Y32-270L | SCK3 |32 |270| M6 | L3 | o |221108 SCK4-A40-MTUNR16-50 | 50 | 40 | 35 | 26 MT1603 | CTM513 | HL1813 | MLO625 | brag | @ [222606
SCK4-Y40-267L SCK4 | 40 |267| M8 | L4 | o | 221110 SCK5-A50-MTUNR16-60 60 )50 36| 31 O 222608
SCK5-Y50-300L SCK5| 50 |300/M10| L5 | o |221112 MCLN DI . Shim Pin Clamp Screw Wrench
] w0 Dimensions | Screw X IMENSIONS ) Stock
STUP Modular Vehicle Head Ordering code INSERT olL|F| & Ordering code oD| L | F |INSERT @ 'ﬂ
an Min=
: SCK1-A20-SVJCR11-22 VC1103|22 | 20 | 19 | 11 [M2.5%6 (] SCK1-A20-MCLNR12-25 25120 (33|13 PL25 ® (222700
g SCKeAzo.vIGRIogs |VC1s0s| 28 25| 35 18 |Ma.sxe| T15 | @ (221908 SCK2-A25-MCLNR12:32 | 3225 34| 15 CTUOT | TR0 | MO | PO | e |pazro
-A25-! - 5x
2D SCK3-A32-SVJCR16-35 35|32 39 17.5 o [221906 SCK3-A32-MCLNR12-40 |40 |32 |35 20 | CN1204 bLos ® 222704
SCK4-A40-MCLNR12-50 | 50 | 40 | 35 | 25 Mc1204 | ctvs13 | HL1s13 | MLos2s EL25 | e 222706
SVUC Modular Cutter Head SCK5-A50-MCLNR12-63 6350|3630 O [222708
Dimensions Screw| Wrench| S
Ordering code INSERT . Jep| L] F @ /\ ¢ S..MW
SCK1-A20-STUPR11-22 222022115 ® |221200 1.5mm 1.5mm
SCK2-A25-STUPR11-30 | 71103 | 30| 25| 25| 15| M38 | T9 | o |o01002 o
SCK1-A20-STUPR1603-25 2520|2213 ® |221204
SCK2-A25-STUPR1603-28 28 | 25|27 | 14 ® |221206
SCK3-A32-STUPR1603-38 | |38|32/30|75) | | O |221208
SCK4-A40-STUPR1603-50 50 | 40 | 33 [21.5 o |221210 Dimensions | Serew| wraneh Intorna — o Extra
SCK5-A50-STUPR1603-60 60 | 50 | 35 [26.5] 0 [221212 ) NCh stk ierns urning
SCK1-A20-STUPR16T3-25 2520 22]13 ® (221214 ey G2 'NSERTMH> oL |F| & s o /6
SCK2-A25-STUPR16T3-28 28| 25|27 | 14 ® 221216 SCK1-A20-SVUCR11-27 2712022 15 o ) ) ) v
SCK3-A32-STUPR16T3-38 | . 3632 30 (7.5 o |221218 sckz-A25-svucr11-30 | V0119 30| 25| 25| 17 (V256 T8 | o |o20a02 Fig.1 R Fig.2 N Fig.3 L h
SCK4-A40-STUPR16T3-50 50 |40 | 33 [21.5 10 o T15 | o |221220 SCK1-A20-SVUCR16-31 3112027 |19 ® (222304 S..MWO8. . R1. 5 S.. MWO8. . N S.. MWO8. . L1.5 L
SCK5-A50-STUPR16T3-60 60 | 50 | 35 [26.5) 0 [221222 SCK2-A25-SVUCR16:33 ||, 13325 (27 | 18| . | . | @ |220306
SCK1-A20-STUPR1604-25 2512022113 @ (221224 SCK3-A32-SVUCR16-40 4013213022 O |222308 Features: the turning of outer circle and inner hole can be completed with one knife, saving tool changing time and improving machining efficiency! R-Type
SCK2-A25-STUPR1604-28 28 | 25|27 | 14 ® (221226 SCK4-A40-SVUCR16-50 50| 40|33 |27 O |222310
SCK3-A32-STUPR1604-38 38 | 3230 [17.5) O (221228 Dimensions Insert Shim Pin Clamp Wrench
SCK4-A40-STUPR1604-50 | |~ 20| 50 | 40 | 33 |21.5 T5 1 o |221230 SDQC Modular Car Cutter Head . /%\’i = s A
SCK5-A50-STUPR1604-60 60 | 50 | 35 26.5 \axg 0 [221232 Orderingcode  |gDmin @d | L | H | h | F | T —— ~ / Fig
) S25R-MW08-R1.5 41 | 25 |200| 24 | 15| 33 | 1.5 CTM613 | HL1510 | ML0520 |PL25/30
STUC Modular Vehicle Head .
S$32S-MW08-R1.5 49 | 32 |250| 30 | 20 | 38 | 1.5 | WN..0804.. Fig.1
MWO0804 | CTM617 | HL1814 | ML0625 | PL30
Dimensions | Screw| wien S40S-MWO08-R1.5 | 56 | 40 |250| 38 | 25 | 45 | 1.5
Ordering code serT| [op| L [F | & stoek simansions | soow S25R-MW08-N 41 | 25 [200| 24 [ 15 [ 33| 0 CTM613| HL1510 | ML0520 | PL25/30
Min= . Wrench|gyock - - 4 2 2 Fig.2
SCK1-A20-STUCR11-22 22|20 22 | 11 o [221600 Orderingoode  |INSERT| Topl [/ | & | A S325-MWO0S-N 9| B2501 30 1 20 | 38 | 0 | WN..0804. \\\yogos| cTMB17| HL1814 | MLO625| PL30 | W9
SCK2-A25-STUPR11-28 | 11103 25 | 25 | 25 | 14 |M2:5%6) T8 | o |o01602 [vin= S40S-MWO08-N 56 | ®©|250| 38 |25|45| 0
SCK1-A20-STUPR16-22 22] 2022 11 ® [221604 S RacR s oz : S25R-MW08-L1.5 | 41| ®[200] 24 [ 15 | 33 [ 1.5 CTM613 | HL1510 | ML0520 [PL25/30
SCK2-A25-STUPR16-28 Zi) 29|20 | i O |22l -A32- - X S$32S-MW08-L1.5 49 P |250| 30 | 20 | 38 | 1.5 | WN..0804 Fig.3
N SCK3-A32-SDQCR11-40  [DC11T3|40 | 32|30 |20 | M4x8 | T15 | @ . . .
SCK3-A32-STUPR16-38 | C1673] 35 | 32 30 [17.5 M¥8 | T15 | o 1501508 e e SERIEAEE . S40S-MWOS-L1.5 | 56 | ®|250| 38 | 25 | 45 | 1.5 MW0804| CTM617 | HL1814 | ML0625 | PL30 9
SCK4-A40-STUPR16-50 50 | 40 | 33 [21.5 O |221610 SCK5-A50-SDQCR11-60 601503530 o .
SCK5-A50-STUPR16-60 60 | 50 | 35 [26.5 o |221612

S..MC..

&0 SDUC Modular Car Cutter Head

SCLC modularvehicle head

T |-
[ ] \ F T@d
R ] . —_

External H

@D

Internal
External

turning . \J'[erna\ turning r—"
Dimensions Oorderi ; INSERT Dimensions Screw| Wrench|stock ‘ urning /6"
: rdering code
Orderingcode | INSERT] oD L ’ wcf20| L[ P | & Fig. 1 R Fig.2 N Fig.3 L i
o SCK1-A20-SDUCR11-23 23] 20| 22 [12.9 ° - . .
SCK1-A20-SCLCR09-22 2212022 SCK1-A20-SDUCR11-25 25|20 22|13 ° S..MC12..R1.5 S..MC12..N S..MC12..L1.5 L
SCK2-A25-SCLCR09-28 A3 25 || 25 SCK2-A25-SDUCR11-32 32| 25| 25|17 °
SCHK3-A32-SCLCR09-38 ceosrs 3g 3; gg scEs-ﬁsZ-sgﬂciﬁao pen 0]jgs2qjgsolh20 e e e Features: the turning of outer circle and inner hole can be completed with one knife, saving tool changing time and improving machining efficiency! e
SCK4-A40-SCLCR09-50 50 | 4 SCK4-A40-SDUCR11-50 50 | 40| 33|25 o ©
SCK5-A50-SCLCR09-60 60]50] 35 SCK5-A50-SDUCR11-60 60 | 50 | 35| 30 o Di : Insert Shim Pin Clamp Wrench|
imensions Screw
SCKC Modular Vehicle Head SDZC Modular Car Cutter Head Orderingcode  |gDminl ¢d | L | H| h | E | T 9 : ﬁ ‘ , /\ Fig
S25R-MW08-R1.5 41 | 25 [{200| 24 | 15| 33 | 1.5 CTM613| HL1510 | ML0520 |PL25/30
S$32S-MW08-R1.5 49 | 32 [250| 30 | 20 | 38 | 1.5| CN..1204.. Fig.1
S40S-MWO08-R1.5 56 | 40 |250| 38 | 25 | 45 | 1.5 MC1204 | CTM617 | HL1814 | ML0625 | PL30
S25R-MW08-N 41 | 25 |200| 24 | 15 | 33 0 CTM613| HL1510 | ML0520 |PL25/30
Dimensions Dimensions Screw| Wrench! S32S-MW08-N 49 | 32 1250/ 30 | 20 | 38 0 CN..1204.. MC1204 | CTM617 | HL1814 | ML0625 | PL30 Fig-2
Ordering code INSERT op| L Ordering code INSERT] Topl [F | @ ’A i S40S-MW08-N 56 | 40 1250| 38 | 25| 45 | 0
SCK1-A20.5CKCR09.22 > T201 22 I K Rl ] S25R-MWO08-L1.5 | 41 | 25 |200| 24 | 15 | 33 | 1.5 CTM613| HL1510 | ML0520 |PL25/30
SCK2-A25-SCKCR09-30  |CCO9T3| 30 | 25 25 35?2?2223?32113 DC11T3| 33 | 25| 34 [ 18 | Maxs | T15 : 222102 $32S-MW08-L1.5 49 | 32 1250 30 | 20 | 38 | 1.5| CN..1204.. MC1204 | CTM617 | HL1814 | ML0625 | PL30 Fig.3
SCK3-A32-SCKCR09-38 383230 SCK3-A32-SDZCR11-40 40 | 32| 35 [21.5 0 222104 S40S-MW08-L1.5 56 | 40 |250| 38 | 25 | 45 | 1.5

B33




Internal turning system P Type Internal Turning Tool

MCLNR MCKNR

—-—

@Dmin

SCLNR ECKNR

Internal Turning

& (Inserts):A01-A02 (Toolholder Parts): P0O1-P04 R-Type IS  (Inserts):A01-A02 (Toolholder Parts): P01-P04 R-Type
. Blifenstene . 7:sert im Pin Clamp — Wrenchl gtock - BATEnE s 7:sert ﬁm Pin Clamp —_— Wrench g0ck
Ordering code @Dminl 2d | L L1 H f @ P e, & ‘ , /\ RIL Ordering code oDminl od | L L1 H f o« s o) & ‘ / /\ RIL
S16Q-MCLNR/L12| 20 | 16 | 180 35 | 15 | 11 | 18° e | ® 223100 S20R-MCKNR/L12 | 25 | 20 |200| 45 | 19 | 13 | 15° crieral L1810 | vLosao | PL25 | | @ [223200
S20R-MCLNR/L12 | 25 | 20 |200| 45 | 19 | 13 | 15° CTM613| HL1810 | ML0620 | BL25 | e | o 223102 $25S-MCKNR/L12 | 30 | 25 |250| 45 | 24 |15.5] 12° PL30 | o | o [223202
$25S-MCLNR/L12 | 29 | 25 |250| 45 | 25 | 15 | 12° o | o 223104 S32T-MCKNR/L12 | 38 | 32 |300| 50 | 30 |20.5| 17°| CN..1204.. o | o (223204
$32T-MCLNR/L12 | 38 | 32 |300| 50 | 30 |20.5/17° | CN..1204.. o | o 223106 S40T-MCKNR/L12 | 46 | 40 |300| 55 | 38 | 24 | 15° MC1204 | CTM617| HL1813 | MLO625 | B35 | e | @ |223206
S40T-MCLNR/L12 | 44 | 40 |300| 55 | 38 | 24 | 15° MC1204| CTMB17 | HL1813 | MLO625| BL25 | o | o [223108 S50U-MCKNR/L12 | 60 | 50 |350| 70 | 48 | 35 | 12° o | o 223208
S50U-MCLNR/L12 | 60 | 50 |350| 55 | 48 | 31 |12° o | o 223110 _ .
S$32T-MCLNR/L16 | 40 | 32 [300| 60 | 30 [22.5/17° o | o 223111 Dimensions ".‘ ﬂm St S Gl Wreneh stock
- ° Orderi d i o 5
SA0T-MCLNR/L16 | 48| 4013001 60 138 ) 26 ) 1571 N 1606.. |MC1604|CTME22| HL2217 | MLos30 | BL39 | & | ¢ (223112 rderingcode o od | L [ L1 H | f | a Dok 2D | N bV R[L
S50U-MCLNR/L16 | 60 | 50 |350| 60 | 48 | 31 |12 0 |e|e |223114 _
: S20R-DCKNR/L12 | 25 | 20 |200]| 45 | 19 | 13 | 15 o0 1223230
S60V-MCLNR/L16 | 70 | 60 | 400| 60 | 58 | 36 | 10 o | o |223116 = .
$25S-DCKNRIL12 | 30 | 25 |250| 45 | 24 [15. 5| 12 o | o |223232
S40T-MCLNR/L19 | 50 | 40 /300 70 | 38 | 26 | 15° pL3g |00 223117 $32T-DCKNR/L12 | 38 | 32 |300| 50 | 30 |20.5) 17°| CN-1204- HLD-1 | MBX211 PL30 | 1 1923234
S$50U-MCLNR/L19 | 60 | 50 |350| 70 | 48 | 31 [12° | CN..1906.. |MC1904|CTM1022| HL2217 | ML0830| BE30 | e | @ 223118 S40T-DCKNRIL12 | 46 | 20 1300 55 | 38 | 24 | 15° MC1204 | M6X9P e R e
S60V-MCLNR/L19 | 70 | 60 |400| 70 | 58 | 36 | 10° o | o [223120
Dimensions Insert Shim Pin Clamp Wrench| Stock
Dimensions ... Insert Shim . Clamp Wrench| gyock . > — Screyv\
Ordering code — s 5 ® y ; " - - Shlm‘Sf:rew ‘ &3 /\ [ Ordering code o L L1 H f o ‘,._ : ‘F ‘.'" 0"3 /'\ RI L
rin — — S32T-ECKNRI/L12 | 38 | 32 |300] 50 | 30 |20.5] 17° PL30 | o | o 223250
S20R-DCLNR/L12 | 25 | 20 200 45 | 19 | 13 [ 15° o [ o |223130 S40T-ECKNR/L12 | 46 | 40 |300]| 55 | 38 | 24 | 150 | CN--1204.. |MC1204/CT618-ZIHLZ-CBI M8X25| 5 4o | 5 | o 223252
$25S-DCLNR/L12 | 29 | 25 |250| 45 | 24 | 15 | 12° oo [223132
S32T-DCLNRIL12 | 38 | 32 |300| 50 | 30 205 172 | CN-120%4- £/ 0 o 3 HLD-TIMEXZT ] PLIO o o 1223134 Dimensions G = Wrench
S40T-DCLNR/L12 | 44 | 40 |300| 55 | 38 | 24 | 15° 223136 : - \Y &
5 o|o Ordering code TN f L L1 H o e ‘\ /v L
T . Insert Shim Pin| clamp| | wrener| gio0k S16Q-SCKNRIL12 | 19 | 16 | 95 | 180 | 26 | 14.8 | 15° oo
S ‘ . - = |GV | 2 S18Q-SCKNR/IL12 | 20 | 18 | 10.5| 180 | 28 |16.8| 15° | CN.1204. M4.5x14W T20 o | o [227611
ST ECINRILTS “E:g'” 2"2’ 3:0 '5-; 3"(') 2;5 1“7 — — < | @ {30\ Rl S S20RSCKNRIL12 | 23 | 20 | 11.5| 200 | 28 | 18.4 | 15° o | o |227612
- . ° ol o
S40T-ECLNR/L12 | 48 | 40 |300| 55 | 38 | 26 | 15°| CN-1204.. |MC1204/CT618-Z) HLZ-C IMBX25| b4 | o | o |223152
Dimensions 20 Insert Sc‘re‘” Wicnch Stock MCWNR
. ‘- : &
Ol Code @Dmin| od | f L | Lt1] H | @ Fand) " ¥ [R]L — j‘ g
S16Q-SCLNRIL12 | 19 | 16 | 95 | 180 | 26 | 148 15° o | ® 227600 0 : ' \/;0 =
S18Q-SCLNRIL12 | 21 | 18 | 10.5| 180 | 28 |16.8| 15° | CN.1204.. M4.5x14W T20 o | o [227601 *” 3Dmin ol |
S20R-SCLNR/L12 | 23 | 20 | 11.5| 200 | 28 | 18.4 | 15° o | o 227602 .-
(Inserts): A01-A02 (Toolholder Parts): P01-P04 R-Type
=
Dimensions Insert Shim Pin Clamp — Wrench| Stock
Orderingcode o Tod | L [L1]| H| f | o Pcd = ‘ & | R[L
S20R-MCWNRI/L12 | 30 | 20 |200]| 45 | 19 | 17 | 15° PL25 | ® | ® 223300
$25S-MCWNR/L12 | 35 | 25 |250 | 45 | 24 |19.5 12°| . . CTMB13| HL1810 | MLOB20 | p3) | o | o 223302
S32T-MCWNRI/L12 | 42 | 32 |300]| 50 | 30 |23.5| 17°| CN-1204. PL25 | @ | e 223304
R BN R R e R R MC1204| CTM617| HL1813 | MLOB25 | BL25 | o | o 255508
Bimensions Insert Shim Shim Sore Clamp Sorew Wrench| Stock
orderingeode o gd | L [ L1 | H | f | o Pt = | & o= o | — R[L
S20R-DCWNR/L12 | 30 | 20 | 200 45 | 19 | 17 | 15° o o 223330
$25S-DCWNRI/L12 | 35 | 25 | 250| 45 | 24 |19.5 12° o | o 223332
S32T-DCWNR/L12 | 42 | 32 |300]| 50 | 30 |23.5 17°| CN-1204- \1o1200 | MExoP HLD-1 1 M6X21] PL30 | |  |593334
S40T-DCWNR/L12 | 50 | 40 |300| 55 | 38 | 27 | 15° o | o [223336




Internal turning system = P Type Internal Turning Tool

MTFNR MTJNR
@Dmin Emin
Internal Turning Internal Turning
= (Inserts): A09-A10 (Toolholder Parts): P01-P04 = (Inserts): A09-A10 (Toolholder Parts): P01-P04
Dimensions Insert Shim Pin Clamp g Wrench| Dimensions Insert Shim Pin Clamp s Wrench|
crew crew
Orderingcode  fon \lgd | L | L1| H | f | @ A=1N — & ‘ & N Rr[L Orderingcode  fon \lgd | L | L1| H | f | @ A=1N — f ‘ &
S16Q-MTFNR/L16 | 20 | 16 |180| 35 | 15 | 11 | 18° e | o 223500 S20R-MTJNR/L16 | 25 | 20 |200| 40 | 19 [12.5] 15° CTMS1 | HL1810 | MLog20 | PL25
S18Q-MTFNR/L16 | 22 | 18 |180| 35 | 17 | 12 | 15° oMt | HL1810 | MLog2o | PL25 | @ | @ [223501 S25S-MTJNR/L16 | 32 | 25 |250| 45 | 24 | 16 [12°| . 0 PL30
S20R-MTFNR/L16 | 25 | 20 |200| 40 | 19 | 13 | 15°| L\ oo, PL30 | e | e |223502 S32T-MTJNR/L16 | 41 | 32 |300| 54 | 30 |22.5| 17° - | MT1603 | cTM513] HL1813 | MLOG25 | PL25
$25S-MTFNR/L16 | 30 | 25 |250| 45 | 24 |15.5| 12° . - o | o 223504 S40U-MTJINR/L16 | 50 | 40 |350| 55 | 38 | 27 | 15° PL30
S32T-MTFNR/L16 | 38 | 32 |300| 54 | 30 [20.5| 17° PL25 | ® | e |223506
S40T-MTFNR/L16 | 47 | 40 |300| 60 | 38 | 25 | 15° MT1603| CTM513| HL1813 | MLO625| b 30 | o | o 223508 -
MTLNR ETLNR (el j
Dimensions — shim Shim Screw| Clamp Screw eI Stock Y *Eﬂﬂg
Orderingcode  [on Fog | L L1 H| f [ L — | @O - @A |~ N R[L I\ . — . \
S16Q-DTFNR/L16 | 20 | 16 |180] 35 | 15 | 11 | 18° o | 0 [223520 ‘
S18Q-DTFNR/L16 | 22 | 18 180 35 | 17 | 12 | 15° o | o |223521 _— 1 R —
S20R-DTFNR/L16 | 25 | 20 [200| 40 | 19 | 13 | 15° o | 0 |223522 nternal Turning
TN..1604.. HLD-3 | M6X21 | PL30
$25S-DTFNR/L16 | 30 | 25 [250| 45 | 24 |15.5] 12° © | 0 |223524 = (Inserts): A09-A10 (Toolholder Parts): P01-P04 R-Type
S32T-DTFNR/L16 | 38 | 32 |300| 54 | 30 |20.5| 17° o | o (223526 . -
S40T-DTFNR/L16 47 40 1300 60 38 25 | 15° MT1603| M5X9P o | o |223528 ' Dimensions Insert Shim Pin Clamp — Wrenchl gi0ck
A A Insert Screw Wrench Ordermg code QDmin ﬁd L L1 H f ao & & & ‘ , /\ R L
, RIFCNSIONS \ g | Stock S18Q-MTLNR/L16 | 22 | 18 | 180| 36 | 17 |12.5] 15° MLOG20| PL20 | | e 223734
Ordering code oDmin | od | f L | 11| H| @ 48\ “ P durin S20R-MTLNR/L16 | 25 | 20 |200| 37 | 19 [13.5] 15° CTM511 | HL1810 PL30 | o | o [223736
S16Q-STFNR/L16 18 16 9 180 26 | 14.8 15° o | ® 227710 S$25S-MTLNR/L16 30 | 25 |250| 45 | 23 | 17 | 12°| TN..1604.. ML0625 | pPL25 | ® | © |223738
S18Q-STFNR/L16 21 18 10 180 28 | 16.8 15° TN..1604.. M3.5%x13T T15 e | o (227711 S32T-MTLNR/L16 40 | 32 |300| 50 | 30 |22.5| 17° MT1603 | CTM513| HL1813 PL30 | e | 0 [223740
S20R-STFNR/L16 22 | 20 | 11 | 200 | 28 |18.4| 15° o | o 227712 Dmensione eon - Pnl  cime| W Sk
) "6 crew
Ordering code Dmin| ad L L1 H f o /R (=] “' j‘ ﬁ‘) /\ RIL
S20R-ETLNR/L16 | 25 | 20 | 200] 40 | 13 [13.5| 15° R e | e 223750
S25S-ETLNR/L16 | 31 | 25 |250| 45 | 24 | 17 | 127 .0, HLZT | Maxas | PL25 | ®| e [223752
MTWNR ~H- S32T-ETLNR/L16 | 41 | 32 |300| 54 | 30 |22.5| 12° - " | vT1603 lcTs15.2 . PL40 | o | o [223754
. =_g S40T-ETLNR/L16 | 50 | 40 | 300| 60 | 38 |26.5| 10° o | o 223756
‘ L ‘ Dimensions st S;e‘” Wistch Stock
Orderingcode  opy| od | f | L | L1 | H | o A1 ‘\ 9 [Rr]L
Internal Turning F_ S16Q-STLNRIL16 | 21 | 16 | 11.5| 180 | 26 |14.8| 15° e | e 227730
S18Q-STLNR/L16 23 | 18 [ 125|180 | 28 |16.8| 15° | TN..1604.. M3.5x13T T15 o | o 227731
= (Inserts): A09-A10 (Toolholder Parts): P01-P04 S20R-STLNR/L16 25 20 1 13.5 | 200 28 | 18.4 15° o | o (227732
Dimensions Insert Shim Pin Clamp 8 Wrench|
crew
Orderingoode  |ny T og | L L1 H| f | o PA=AN — & ‘ oo | MTQNR ~H
S20R-MTWNRI/L16 | 27 | 20 |200]| 40 | 19 | 14 | 15° PL25 . 3
$25S-MTWNR/L16 | 32 | 25 |250| 45 | 24 [16.5| 12°| TN..1604.. CTM511| HL1810 | MLO620| p| 35 © . j
S$32T-MTWNR/L16 | 39 | 32 |300| 54 | 30 | 20 | 17° MT1603 | CTM513 | HL1813 | ML0625 | PL25/30 o | L |
Dimensions Insert Shim Shim Screw| e S e Stock _
. (ENEY Internal Turning
orderingeode o od | L | L1 | H | f | o = — | @ ‘ d ~ Rr[L I (Inserts): A09-A10 (Toolholder Parts): P01-P04 R-T
nserts): - oolnolaer Farts): - - e
S20R-DTWNR/L16 | 27 | 20 |200] 40 | 19 | 14 | 15° o] o . _ a e
S25S-DTWNR/L16 | 32 | 25 |250| 45 | 24 [16.5| 12°| TN..1604.. HLD-3 | M6X21| PL30 | o | o [223612 Dimensions el Shim [Py 20E Wreneh| gyock
S32T-DTWNR/L16 | 39 | 32 |300| 54 | 30 | 20 | 17° MT1603 | M5X9P o | o (223616 Orderingcode [ =T T " [ 1T w1t | /R — & ‘ / ~NMRTL
Dimensi po— — —— st S20R-MTQNR/L16 | 25 | 20 |200]| 40 | 13 [13.5] 15° PL25 | ® | ® 223800
Ordering cods [meneron A & A~ ° $25S-MTQNRIL16 | 31 | 25 |250| 45 | 24 | 17 | 12°| _ CTMSTT | HL1810 | MLOB20 | 130 | o | o (223802
@Dmin | @d f L L1 H a = RIL S32T-MTQNR/L16 | 41 | 32 |300| 54 | 30 [22.5| 17° - " [ vT1603 | cTvs13 | HLA813 | MLosos | PL25 | ® | @ [223804
S16Q-STWNR/L16 21 | 16 | 11.5] 180 | 26 | 14.8| 15° ® | o 227750 S40T-MTQNR/L16 | 50 | 40 |300| 60 | 38 |26.5| 15° PL30 | e | @ 223806
S$18Q-STWNRI/L16 23 | 18 [ 125|180 | 28 |16.8| 15°| TN..1604.. M3.5x13T T15 o | o 227751 _ _
S20R-STWNR/L16 25 | 20 | 13.5| 200 | 28 |18.4| 15° e | @ |227752 Dimensions Insert Sl Pin fimp Sorew Wrenehl stock
orderingeode  lopy ) gd | L | L1 | H | f | o 8\ - | OF T 0 | ~TNR[L
S20R-ETQNR/L16 | 25 | 20 |200| 40 | 13 |13.5| 15° R e | e 223810
S25S-ETQNR/L16 | 31 | 25 |250| 45 | 24 | 17 | 127 0 izt Maxos| PL25 | @ | e |223812
S32T-ETQNR/L16 | 41 | 32 |300| 54 | 30 |22.5| 12° - " | vT1603 lcTs15.2 - PL40 | o | ® |223814
S40T-ETQNR/L16 | 50 | 40 |300| 60 | 38 |26.5| 10° 5 o | o [223816
Dimensions Insert szew Wrefﬂh Stock
. L
Orderingeode 1 gDmn| @d | f | L | L1 | H | @ VA=A d* ¥ [Rr[¢L
S16Q-STQNR/L16 21 16 | 11.5 | 180 | 26 | 14.8| 15° e | o [227720
S18Q-STQNR/L16 23 | 18 | 125|180 | 28 |16.8| 15°| TN..1604.. M3.5x13T T15 o | o 227721
S20R-STQNR/L16 25 | 20 |13.5| 200 | 28 |18.4| 15° o | o [227722




